July 14, 1993

	Computer Operations Request #449

To:		Bob Hauser and Daphne Kuo
From:		Megan Sweeney
Subject:	Coding of items used in construction of the five factor model of personality structure


Items in the mail questionnaire were coded according to  six point scale ranging from "strongly agree" to "strongly disagree", as selected by respondents. Fourteen of twenty-nine items from the mail questionnaire required reverse coding in construction of the personality measures, these being: 17b, 17d, 17e, 17g, 17j, 17l, 17m, 17o, 17q, 17s, 17t, 17w, 17x, 17cc.
Items on the phone questionnaire were constructed from a two-question format. Respondents were first asked to agree or disagree with  a given statement, and were subsequently asked, "Is that strongly, moderately, or slightly?" The same six point scale was thus constructed for phone items, ranging from strongly agree to strongly disagree. Six out of ten of these phone items required reverse coding, these being: equiet, afault, ccareles, cdistrac, nrelax, and oesywork. Question formats and mechanics of the described coding procedures are available in the attached appendices.
An additional response category, "neither agree nor disagree" was added due to interviewer request, but not read to respondents. Some respondents insisted upon responding with “neither agree not disagree”. Because of the ambiguous nature of this response (not having been orally presented, potential to serve as a polite refusal), as well as the very small proportion of respondents actually giving this response (less than 2% in all cases) - it was dropped for the purposes of this preliminary investigation. 






	Appendix A:
	Sample questions from the telephone instrument



>308n<  I am going to read several statements that people might
use to describe themselves.  I would like you to tell me
whether you agree or disagree with the statement.

I see myself as someone who is outgoing and sociable.


<1>  AGREE
<2>  DISAGREE

<3>  NEITHER AGREE NOR DISAGREE [goto 310]

<8>  DON'T KNOW [goto 310]
<9>  REFUSED [goto 310]
====>


>309<   Is that strongly, moderately, or slightly ? [no erase]


<1>  STRONGLY
<2>  MODERATELY
<3>  SLIGHTLY

<8>  DON'T KNOW
<9>  REFUSED
====>



>310f<  I see myself as someone who worries a lot.  Do you agree or
disagree?

<1>  AGREE
<2>  DISAGREE

<3>  NEITHER AGREE NOR DISAGREE [goto 310m]

<8>  DON'T KNOW [goto 310m]
<9>  REFUSED [goto 310m]
====>


>310j<  Is that strongly, moderately, or slightly ? [no erase]

<1>  STRONGLY
<2>  MODERATELY
<3>  SLIGHTLY

<8>  DON'T KNOW
<9>  REFUSED
====>






	Appendix B:

	Sample questions from the mail instrument

EVERYONE:  II.  VALUES AND ATTITUDES

This section lists a number of characteristics that may or may not apply to you.  Please read the statements below and decide the extent to which each statement describes you.
	17.  I see myself as someone who...

	Circle the number that best describes your agreement or disagreement with each statement.
	Agree
	Disagree

	
	Strongly
	Moderately
	Slightly
	Slightly
	Moderately
	Strongly

	a.	is talkative.
	1
	2
	3
	4
	5
	6

	b.	tends to find fault with others.
	1
	2
	3
	4
	5
	6

	c.	does a thorough job.
	1
	2
	3
	4
	5
	6

	d.	is reserved.
	1
	2
	3
	4
	5
	6

	e.	prefers the conventional, traditional.
	1
	2
	3
	4
	5
	6

	f.	is full of energy.
	1
	2
	3
	4
	5
	6

	g.	prefers work that is routine and simple.
	1
	2
	3
	4
	5
	6

	h.	is a reliable worker.
	1
	2
	3
	4
	5
	6

	i.	can be tense.
	1
	2
	3
	4
	5
	6

	j.	tends to be quiet.
	1
	2
	3
	4
	5
	6

	k.	values artistic, aesthetic experiences.
	1
	2
	3
	4
	5
	6

	l.	tends to be disorganized.
	1
	2
	3
	4
	5
	6

	m.	is emotionally stable, not easily upset.
	1
	2
	3
	4
	5
	6

	n.	has an active imagination.
	1
	2
	3
	4
	5
	6

	o.	is sometimes rude to others.
	1
	2
	3
	4
	5
	6

	p.	is generally trusting.
	1
	2
	3
	4
	5
	6

	q.	is lazy at times.
	1
	2
	3
	4
	5
	6

	r.	worries a lot.
	1
	2
	3
	4
	5
	6

	s.	wants things to be simple and clear-cut.
	1
	2
	3
	4
	5
	6

	t.	is sometimes shy, inhibited.
	1
	2
	3
	4
	5
	6

	u.	does things efficiently.
	1
	2
	3
	4
	5
	6

	v.	generates a lot of enthusiasm.
	1
	2
	3
	4
	5
	6

	w.	can be cold and aloof.
	1
	2
	3
	4
	5
	6

	x.	remains calm in tense situations.
	1
	2
	3
	4
	5
	6




	Appendix C:

	SPSS coding procedure for Five Factor Model of Personality Items.



MAIL DATA
    recode q17b (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17d (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17e (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17g (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17j (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17l (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17m (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17o (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17q (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17s (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17t (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17w (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17x (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)
    recode q17cc (1=6) (2=5) (3=4) (4=3) (5=2) (6=1)



    TREATMENT OF MISSING VALUES FOR BOTH MAIL AND PHONE 
    missing values v308n n309 v312j v312f v310p v310m v314b                                         v310s v314f v314m n314 v310j v314p v310f v310b v312p 
n310 v312m n311 v314j (8,9)

    	q17a to q17z (9) q17aa q17bb q17cc (9)                          	
  


   BIG FIVE SCORE CONSTRUCTION (mail‑with repeated items)
   compute extrm = (q17j+q17a+q17d+q17f+q17t+q17v)/6
   compute agrem =(q17b+q17o+q17p+q17w+q17y+q17bb)/6
   compute consm =(q17cc+q17c+q17h+q17l+q17q+q17u)/6
   compute neurm =(q17r+q17i+q17m+q17x+q17z)/5
   compute openm =(q17g+q17e+q17k+q17n+q17s+q17aa)/6



 





















PHONE DATA

   If (v308n = 1) and (n309 = 1) eoutgo = 1
   If (v308n = 1) and (n309 = 2) eoutgo = 2
   If (v308n = 1) and (n309 = 3) eoutgo = 3
   If (v308n = 2) and (n309 = 3) eoutgo = 4
   If (v308n = 2) and (n309 = 2) eoutgo = 5
   If (v308n = 2) and (n309 = 1) eoutgo = 6
 
   comment this item requires reverse coding.
   If (v312f = 1) and (v312j = 1) equiet = 6
   If (v312f = 1) and (v312j = 2) equiet = 5
   If (v312f = 1) and (v312j = 3) equiet = 4
   If (v312f = 2) and (v312j = 3) equiet = 3
   If (v312f = 2) and (v312j = 2) equiet = 2
   If (v312f = 2) and (v312j = 1) equiet = 1
 
   If (v310m = 1) and (v310p = 1) aforgive = 1
   If (v310m = 1) and (v310p = 2) aforgive = 2
   If (v310m = 1) and (v310p = 3) aforgive = 3
   If (v310m = 2) and (v310p = 3) aforgive = 4
   If (v310m = 2) and (v310p = 2) aforgive = 5
   If (v310m = 2) and (v310p = 1) aforgive = 6
 
   comment this item requires reverse coding
   If (n314 = 1) and (v314b = 1) afault = 6
   If (n314 = 1) and (v314b = 2) afault = 5
   If (n314 = 1) and (v314b = 3) afault = 4
   If (n314 = 2) and (v314b = 3) afault = 3

   If (n314 = 2) and (v314b = 2) afault = 2
   If (n314 = 2) and (v314b = 1) afault = 1
 
   comment this item requires reverse coding
   If (v310s = 1) and (n311 = 1) ccareles = 6
   If (v310s = 1) and (n311 = 2) ccareles = 5
   If (v310s = 1) and (n311 = 3) ccareles = 4
   If (v310s = 2) and (n311 = 3) ccareles = 3
   If (v310s = 2) and (n311 = 2) ccareles = 2
   If (v310s = 2) and (n311 = 1) ccareles = 1
 
   comment this item requires reverse coding
   If (v314f = 1) and (v314j = 1) cdistrac = 6
   If (v314f = 1) and (v314j = 2) cdistrac = 5
   If (v314f = 1) and (v314j = 3) cdistrac = 4
   If (v314f = 2) and (v314j = 3) cdistrac = 3
   If (v314f = 2) and (v314j = 2) cdistrac = 2
   If (v314f = 2) and (v314j = 1) cdistrac = 1
 
   If (v310f = 1) and (v310j = 1) nworry = 1
   If (v310f = 1) and (v310j = 2) nworry = 2
   If (v310f = 1) and (v310j = 3) nworry = 3
   If (v310f = 2) and (v310j = 3) nworry = 4
   If (v310f = 2) and (v310j = 2) nworry = 5
   If (v310f = 2) and (v310j = 1) nworry = 6
 
   comment this item requires reverse coding
   If (v314m = 1) and (v314p = 1) nrelax = 6
   If (v314m = 1) and (v314p = 2) nrelax = 5
   If (v314m = 1) and (v314p = 3) nrelax = 4
   If (v314m = 2) and (v314p = 3) nrelax = 3
   If (v314m = 2) and (v314p = 2) nrelax = 2
   If (v314m = 2) and (v314p = 1) nrelax = 1

 
   If (n310 = 1) and (v310b = 1) oinvent = 1
   If (n310 = 1) and (v310b = 2) oinvent = 2
   If (n310 = 1) and (v310b = 3) oinvent = 3
   If (n310 = 2) and (v310b = 3) oinvent = 4
   If (n310 = 2) and (v310b = 2) oinvent = 5
   If (n310 = 2) and (v310b = 1) oinvent = 6
 
   comment this item required reverse coding
   If (v312m = 1) and (v312p = 1) oesywork = 6
   If (v312m = 1) and (v312p = 2) oesywork = 5
   If (v312m = 1) and (v312p = 3) oesywork = 4
   If (v312m = 2) and (v312p = 3) oesywork = 3
   If (v312m = 2) and (v312p = 2) oesywork = 2
   If (v312m = 2) and (v312p = 1) oesywork = 1
 
   BIG FIVE SCORE CONSTRUCTION (Phone-with repeated items) 
   compute extrp = (eoutgo+equiet)/2
   compute agrep = (aforgive+afault)/2
   compute consp = (ccareles+cdistrac)/2
   compute neurp = (nworry+nrelax)/2
   compute openp = (oinvent+oesywork)/2







 
